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1. Conep:xkanue QM CUUIIIMHBI

Tema 1. Oprann3zanus nHGOPMALMOHHBIX CHCTEM

[lcuxonoruueckue acmekTbl B  OpraHu3alMd  MHGOPMAIIMOHHBIX  CUCTEM.

Nudopmanmonnass stuka. IlpeumyiectBa M HEOOCTAaTKU  COLIMAJIBHBIX

UH(OPMAITMOHHBIX CETEH.

Tema 2. BzanmojaelicTBHe YeJI0BEKA U KOMIIbIOTEPA

Cdepa wucnonp3oBaHus HHPOPMAIMOHHBIX CHUCTEM. ACHEKTHl IEpECeUeHuUs
TyMaHUTApHbIX HayK W MHPopMatuku. Paznuunblie TUnbl UHTEpQENcoB. AnmnapaTHoe U
MIPOrpaMMHOE 00ECIIEUECHHE.

Tema 3. Hepapxusi 4denoBedeckux mnorpedHocreir «Ilupamupma» A. Macinoy.
MotuBaimonHble acnekThl. PazpaboTka pabounx mojeneld MHPOPMAIMOHHBIX CHUCTEM.
Ilepeceuenne NpuKIaqHON ICUXOJIOTUU U MAPKETHUHTA

Tema 4. UndopmManmoHHbIE CHCTEMbI KOHTPOJIS

Crenuaiv3upoBaHHbIE U OOIIHE CUCTEMbI, XpaHEHUE U yTIpaBlieHHe UH(POPMAIIUEH,
CUCTEMbI KOHTPOJII, CUCTEMbl KOMMYHUKaIuu. KoHcalITHHroBbIE HWH(OpPMAIMOHHBIC
CUCTEMBI.

Tema S. UndopmanuoHHble CHCTEMbI A/ JTUCTAHUMOHHOIO YIIPABJICHUS

NunuBuyanbHas U KOJUIEKTUBHAS paboTa Ha pacctossHud. Co3/laHne KOHTEKCTa JIst
nuctaHioHHoro  ynpasineHusi. LANvs.WAN. IIpeumymiectBa ©W = HEHOCTaTKH
TEJIEKOMMYHUKALIUH.

Tema 6. CounabHO-TeXHMYECKHI MOAX0X K HHGOPMALMOHHBIM CHCTEMAaM

JuzaliH  MHPOPMALUMOHHBIX cHCTEM. KOMIOHEHTbl TEXHUYECKOH CHUCTEMBI.
KomnonenTs! conpanbHoOM cucteMsbl. [IpuHiumns! qu3aitHa nH(OOPMAaIIMOHHBIX CUCTEM.

Tema 7. UuTepHeT B OM3Hece

NHuTtepHeT n koHKypeHuus. CTpaTernyecKue acleKThbl HCTIOJIb30BaHUS
UH(OPMAITMOHHBIX CHCTEM B OM3HECE.

Tema 8. Bo3aMokHOCTH U TPOOJIEMBbI CO3IAHUS M PA3BUTHSA HHPOPMALMOHHBIX
cucteM Co3nanue U pa3BuTHE HHHOPMAIIMOHHBIX CUCTEM B IIU(PpoBOM obiiecTBe. CTriu
yIpaBJieHUs] THPOPMAIIMOHHBIMU CUCTEMaMHU.

2. [Ipumep Tekyieii KOHTPOJILHOI PadoThI

1. Read the text and answer the guestions below it.

The IS success model identifies and describes the relationships among critical
dimensions of IS success.

Information quality refers to the quality of the information that the system is able to
store, deliver, or produce, and is one of the most common dimensions along which
information systems are evaluated.

The overall quality of a system is also one of the most common dimensions along
which information systems are evaluated. System quality indirectly impacts the extent to
which the system is able to deliver benefits.



Service quality, another critical dimension of IS success, directly impacts usage
intentions and user satisfaction with the system, which, in turn, impact the net benefits
produced by the system.

Intentions to use an information system and actual system use are well-established
constructs in the information systems literature. System use influences user’s satisfaction
with the information system, which, in turn, influences usage intentions. In conjunction with
user satisfaction, system use directly affects the net benefits that the system is able to
provide.

Like actual system use, user satisfaction, as a critical dimension of IS success, directly
influences the net benefits provided by an information system. Satisfaction refers to the
extent to which a user is pleased with the information system, and is directly affected by
system use.

The net benefit that an information system is able to deliver is an important dimension
of the overall value of the system to its users or to the underlying organization. In the IS
success model, net system benefits are affected by system use and by user satisfaction with
the system. In their own right, system benefits are considered to influence both user
satisfaction and user’s intentions to use the system.

1.How many critical dimensions does the IS success model identify?

2.What critical dimensions does the IS success model include?

3.What does service quality, as a critical dimension of IS success model, directly impact?
4.What is user satisfaction directly affected by?

5.How can you define ‘user satisfaction’?

2. Decide whether the following statements are “true” or “false”.

6.There are five critical dimensions of IS success that the 1S success model identifies.
7.Intentions to use an information system and actual system use are commonly defined in
the information systems literature.

8.System use is not a critical dimension of the 1S success model.

9. Information quality and system quality are critical dimensions of the IS success model.
10.An information system is able to deliver the net benefit.

3. Match the words and phrases with their meanings.
11. threaten  [a) to go above an official limit

12. favor b) to spread or to make things spread in different directions over a wide
area

13. vision c) a large amount or part of something.

14. reward d) the sense that tells you what something feels like through your skin

15. disperse  |e) the ability to see
16. impose f) to introduce something such as a new system and force people to

accept it.
17. chunk g) to support an idea and believe that it is better than other ideas
18. virtue h) something good that happens or that you receive because of

something that



you have done

19. touch 1) to be likely to harm or destroy something
20. exceed J) an advantage or a good feature

4. Choose the word or phrase that best completes the sentence.

21. People will form a ___ attitude towards IS if they believe that a proposed system will
enhance their power.

a) sophisticated b) alert c) favorable

22. While using IS it is very important to be___to the interactions between the system and

the people.

a) sufficient b) alert c) likely

23. People prefer screensto be .

a) unacceptable b) sparse  c) plausible

24. Users have to effort between alternative demands.
a) allocateb) widen  c) perceive

25. 1S people from many routine operations.

a) attemptb) eliminate C) accept

26.A password with more than 15 digits is rather_.
a Junacceptable  b) plausible c) acceptable

27. Designers bad features of the system.

a) endanger b) mediate c) eliminate

28. Promoters aim for more to meet customer expectations.

a) flexibility b) income C) assumptions

29. IS managers have to exercise more___over a dispersed set of operations.

a) abandonment b) surveillance c) capability

30. 1t is to assume that the more a system will help them achieve valued rewards,
the more likely they are to use it.

a) plausible b) redundant  c) uncluttered

5. Choose the correct grammar form to complete the sentence.
31. In a broader sense, a social-network service usually __an individual-centered service

a) provides b) provide c) is provided
32. The first use of the term ‘human-computer interaction” was in 1975.
a) knowing b) know c) known

33. In-person social networking — such as gathering in a village market to talk about events
since the earliest development of towns.
a) has existed b) exist c) existing
34. Human-computer interaction is a discipline concerned with the design, evaluation and
Implementation of interactive computing systems for human use and with the study of
major phenomena__them.
a) Surrounding b) surround c) surrounded
35. LinkedIn, a career-oriented social-networking service, generally_that a member
personally knows another member in real life before they contact them online.
a) requiring b) have required C) requires
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36. Poorly human-machine interfaces can lead to many unexpected problems.

a) designing b) design c) designed
37.There attempts to standardize these services since the outset.
a) have been b) are c) being

38. Much of the research in the field of human-computer interaction takes an interest in
methods for
new computer interfaces

a) designing b) designed c) design
39. There a variety of social networking services available online.
a) is b) are c) have

40. HCI differs from human factors and ergonomics as HCI focuses more on users
specifically with computers.
a) working b) have work c) worked

6. Complete the sentences using the words from the box. There are two extra words.

return | favor |inappropriat perspectives |particularjrespond
e
context | layout interactions [abandonmen |eliminate recipients
t

41. Itis very important to pay attention to the context of the information system.
42. Practitioners study how the and brightness of screens affect eye-strain.

43. Most people are not passive of information systems but active players.
44. The may relate to the strategic possibilities of new products or markets.
45. Some players may support the project; others may see things differently and propose
changes or

46. After introducing new IS companies get less___on their investment.

47. People always applications that support their interests.

48. It is not easy but possible to understand the between the IS and the people.
49. People differently to information systems.

50. The context means identifying elements and recognizing that people will be
interpreting these elements from different __.

7. Write an essay on the topic “Human-computer interaction” (120-150 words).

3. CTpyKTypa 3a4eTa U IK3aMeHa

3auér

S cemectp

3a4eT COCTOUT U3 MUCbMEHHOU (ayIMPOBAaHUS U JIEKCUKO-TPAMMAaTUYECKOW YaCTH) U
YCTHOM 4acTH (MUHU-TIPE3CHTAIIMH 10 TTPOUICHHOU Teme).

1. AynupoBanue (IpoCIylIMBaHKE JIBYX ayMO03aluced JUIMTENIbHOCTRIO 1-2 MuH 1 pa3 u
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BBINIOJIHEHKE 3aaanuii K HuM) (10 6asioBs).
2.Jlexkcuko-rpammaruueckuii Tect (20 6asion).
3.Munu-npe3eHTaIys 1Mo 0JAHOM U3 mpoiieHHbIX TeM (30 6asioB).

6 cemecTp

JK3aMeH

DK3aMEH COCTOUT U3 MUCbMEHHOM (ayAUpPOBaHUS U JIEKCUKO-TPAMMATUYECKON YacTH) U
YCTHOM 4acCTH.

AynupoBanue (IPOCTYIUBAHNUE IBYX ayHO03aMMNUCEH JTUTEIHHOCTIO 2-3 MUH ABAXKIBI U
BBINIOJTHEHUE 3a7aHuii K HUM) (10 6amioB).

1.JIekcuko-rpammatuyeckuii Tect (20 6amioB).

2.PedepupoBanue Texcta oo6bemom 2200-2500 3nakoB (15 6ammos).

3.Pemenne Ou3Hec-keiica o npeacTaBiaeHHoM nmpobieme (15 6amios).

4. Tembl mpe3eHTALMH
Human capabilities, needs and motivation.
Human aspects of information system organization.
Information ethics.
Human user and computer system.
Computer-supported cooperative work.
Technology acceptance model.
Sets of human needs and motivation.
Work design model.
Maslow’s hierarchy of needs.

5. [Ipumep 3a1aHNii K ayUPOBAHUIO U JIEKCHKO-TPAMMATHYECKOMY TECTY J1JIs1
NMPOBEPKHU
cpopMUPOBAHHOCTH KOMIIETEH N

1. Listen to the text and answer the guestions.
1. How much time and where should franchisees train for the franchise Fair do’s hairdos?
2. When and where was the franchise Mountie Sandwich Shop opened?
3. What was the problem with Mountie Sandwich Shop?
4. Where was the franchiser of Tween ‘n” Dream located?
5. Where and how many stores has the franchiser of Tween ‘n” Dream got at present?

2. Listen to the interview and decide whether the following statements are “true” or
“false”.

6. When you are running a company one of the main goals is to develop the main blocks of
its strategy.

7. It is not quite essential to watch people grow and work as a team within the company.

8. To be a chief executive of a food-manufacturing company is boring.
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9. From time to time the chief executive of the company is actually off duty.
The food-manufacturing company is functioning all year round without interruption._

3. Match the words and phrases with their meanings.

11. strain a) the tools, machines, or other things that you need for a
particular job
or activity

12. acceptance |b) the way in which the different parts of something are
arranged

13. eliminate  |c) the mouth’s ability to notice the flavor of different foods and
drinks

14. fatigue d) to make an idea stronger

15. meet e) to make something become gradually less effective,
confident or
successful

16. undermine [f) to get rid of something that is not wanted or needed

17. taste g) pressure caused by a difficult situation

18. reinforce  |h) to do or provide what is necessary in order to deal
successfully with a
situation

19. equipment |i) a feeling of being extremely tired

20. layout I) general agreement that something is true and reasonable

4. Choose the word or phrase that best completes the sentence.

21. The advantages of 1S will exceed the :
a) forces b) income c) employer

22. Sometimes new technologies inappropriate controls.
a) remain b) alert c) impose
23. People can what the system will do.

a) intend b) confuse c) predict

24.Some people are likely to__ with a system that is difficult to use.

a) cope b) prefer c) retain

25. People make about human capabilities.

a) abandonment b) assumptions c) surveillance

26. The typical capacity of a person’s short-term memory is about five of data.

a) counters b) pointers ¢) chunks

27.Designers menu choice in a way that makes sense.

a)arrang b) confuse c) accept

28. The innovations can be supported by computer-based IS.

a )sophisticated b) inappropriate c) alert

29.People applications that support their interests.
a)undermine b) favor c) disperse



30.Designers good features of the system.
a)retain b) endanger c) eliminate

5. Choose the correct grammar form to complete the sentence.

31.0nline community services social-network services by programmers and users.
a) are considered b) is considered c) consider

32.Instead of regular interfaces, the different research branches have had a
different focus.

a)to design b) designc) designing

33. Social networking sites users to share ideas, digital photos and videos, posts.
a) allow b) allows c) allowing

34. HCl is also sometimes human—machine interaction (HMI), man-machine

interaction (MMI) or computer-human interaction (CHI).
a)terming b) term c) termed
35.The success of social networking services___in their dominance in society today.

a) are seen b) is seen C) sees
36.Much of the research in the field seeks _ human-computer interaction by
improving

the usability of computer interfaces.

a)to improve b) improved c¢) improve

37. The main types of social networking services_occupation or religion).

a) is containin b) has contained c) contain category places (such as age or
38.Researchers in HCI are in developing design methodologies, experimenting with
devices.

a)interested b) interest c) interesting

39India world's largest growth in terms of social media users in 2013.

a)has been recording b) were recording c) recorded

40.There is also a focus in HCI on how to implement the computer software and hardware
mechanisms human-computer interaction.

a)supported b) to support c) support

6. Complete the sentences using the words from the box. There are three extra words.

layout jattempt fassumptions |flexibilityjallocate | perceive |guideline
cope |endanger consideratio |accessiblesparse |variables

n
41. IS designers inevitably make about human memory.
42. A of the interface between the human and the computer is very important.

43. The interface between people and the information system mediates between the two
and has a major effect on how users__the system.

44. Too much personal will also make it harder for people within an organization
to share information.

45. Practitioners study how the__ and brightness of screens affect eye-strain.

46. Computers are widely parts of community life.

9



47. An IS depends on two distinct :

48. Users have to effort between alternative demands .

49.People are likely to with a system that is difficult to use if it provides them with
valuable information

50 The technology models to predict whether people will accept an information
system.

7. Write an essay on the topic “Human capabilities, needs and motivation” (120-150

words).

IIpuMmep Ou3Hec-keica

Examine the electronic prescription system and decide whether it is effective in terms of the
cost and quality of the operations.

To control the cost of drugs prescribed by general practitioners (GPs), the Netherlands
Ministry of Health decided to implement an electronic prescription system (EPS). The
doctor types in the patient number and a code representing the diagnosis. The EPS then uses
a list of available drugs and the patient’s medical record to recommend a therapy, including
any drugs. The EPS can print the prescription and e-mail this directly to the pharmacist if
the patient wishes. The Ministry and other bodies therefore invested heavily to develop and
promote the EPS. GPs are autonomous, self- employed professionals and they reacted to the
system in different ways.

6. MeToan4yeckue peKOMeHAAIUN MO pedepupoBaAHUI0 TEKCTA

PedepupoBanue — 3TO OJWH U3 BApPUAHTOB CTPYKTYPUPOBaHUS HHGPOPMAIUU.
Pabotas Han pedepupoBaHrMEM KaKOTro-IMOO TEKCTAa, CTAThU MBI YIIPOIAeM BOCIPUSITHE
uH(pOpMAIIHU TTOCPEACTBOM €€ CXKATUS U CTPYKTYPHUPOBAHHUSI.

VYcerHoe pedepupoBaHre TEKCTa HAa HHOCTPAHHOM S3BIKE SIBIISIETCS OJHUM W3
CJIO’KHBIX KOMIUIEKCHBIX YMEHUM, MPEANONAralonuX HaIu4ue BEICOKOTO YPOBHS Pa3BUTHS
YMEHUN aHAIMTUYECKOTO YTCHUS C W3BJICUCHHEM Bced (akThuueckod uHPOpMaUU MU
MOJHOTO CMBICJA MPOYUTAHHOTO TEKCTa, a TaKKe YMEHMH MOHOJIOTMYECKOW peuu,
MO3BOJISIIOIIMX TOCTPOUTH CBS3HOE JIOTUYHOE BBICKA3bIBAHME, AJICKBATHO OTpakarollee
CMBICJI TIPOYUTAHHOTO TEKCTA.

PedepupoBanue 3akitoyaeTcsi B BBIOOpKE U3 BCEro MaccrBa HH(GOPMAIIMH KITFOUEBBIX
MOMEHTOB U MX (PUKCUPOBAHUH.

[Ipormecc pedepupoBanus TEKCTa MEPBUYHOTO JIOKYMEHTa (KHHUTH, CTaThbU W T.IL.)
IpOTEKAeT B TPH dTamna:

1.9TeHrE HUCXOJHOTO0 TEKCTa M €ro aHaiu3 (OOBIYHO HECKOJIbKO pa3) C LEeJbIo
JIETATHPHOTO TIOHMMAaHHUSI OCHOBHOTO COJIEPKAHUSI TEKCTa, OCMBICICHUSI ero (haKTHUeCKOU
uH(popMaLuu (U3ydaromiee YTeHUe);

2.0omepa ¢ TEeKCTOM TIEPBOMCTOYHUKA: TEKCT pa3OMBaeTCs Ha OTHETbHBIC
CMBICJIOBBIE (D)PAarMEHTHI C IEJIbI0 M3BJICUYCHHS OCHOBHON M HEOOXOAMMOW WH(OpMarmu
Ka)X/10TO U3 HUX;
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3.CBepThIBaHUE, COKpaIlleHHe, 000OIICHHE, KOMIPECCUS BBIAEICHHOW OCHOBHOM
uHpopmaIuu 1 opopmiIeHHE TEKCTa B COOTBETCTBUH C MPUHSATON MOJIENbIO.

[Ipu pabote Haj TEKCTOM HEOOXOJIMMO TOOMBATHCS MOHMMAHMS Ha CIEIYIOUIUX
YPOBHSIX: BBIJICJICHUE OTACTBHBIX (JAKTOB, COOTHECEHHE (DaKTOB IPYT C IPyrom, 0000I1eHne
(dakToB, OCMBICIIEHNE, MHTEPIPETAIMS IPOUYUTAHHOTO B €0 1EJIOCTHOCTH.

[Ipu uyTeHHH TEKCTa ¢ LENbI0 MOCIEIYIOIIEr0 YCTHOTO ero pedepupoOBaHUs MOKHO
UCIIOJIb30BATh CJIEIYIOUIUN alrOPUTM.

1.ITpounTaiiTe 3aroJIOBOK TEKCTA U CACIANTE MPEIOJIOKEHUE O €r0 COJCPIKAHMH.

2.BBICTPO MPOCMOTPUTE TEKCT, KOHIICHTPUPYSI BHUMAHUE HA TIEPBOM U IMOCJICIHEM
ab3amax, a TaKke Ha Hayaie Kaxaoro ab3ama. YOenutech B MPABHIBHOCTH CBOUX
MIPEAMOIOKEHUN O COJIEP)KAHUH TEKCTA.

3.Ilocrapaiitech  chopMynHpOBaTh OCHOBHOE COJEp)KaHWE TeKcTa B 2-3
MIPETOKCHUSX.

4 IlpounTaiiTe TekcT eme pa3 Oojee BHHUMATENIbHO, OOpailas BHHMaHHE Ha
CMBICJIOBBIE CBS3M MEXIy a03allaMu W BHYTPH Kaxkjaoro aobszama. OOparmaiite ocoboe
BHUMAHHE Ha JIOTUYECKHME KOHHEKTOpPbI — (Ppasbl, COIO3bI, MPEJIOTH, BhIPAXKAIOIINE
BpEMEHHbIE, PUINHHO-CIIEJCTBEHHbIE U TIpoune cBs3u (first of all, besides, although, so
etc., a Taxoke mecroumenus this, that, it etc., BeIsICHSIS ipy YTEHUH, KaKK€ CYIIECTBUTEIbHBIC
OHH 3aMEHSIOT.

S5.Ecnum cmbicn Kakoro-iu0o MpejIoKEHUs HE COBCEM SICEH H3-3a CJIO0XKHOTO
CHUHTAKCHCA, COKPATUTE TPEIJIOKCHNE JI0 TIIABHBIX WICHOB MPEJIOKCHUS.

6.BctpetnB meTadoprueckoe BBIPAXEHUE W BBIACHHB €ro OOIIMA CMBICT,
MIPOYUTANTE KOHTEKCT, B KOTOPOM OHO OBIJIO YITOTPEOJIEHO M MOCTAPANTECh TOHATH CMBICI
BBIPKCHUS B TAHHOM TEKCTE.

7.Eme pa3 mpouyuTaliTe MOJ3aroJioBOK W YOEOUTECh, YTO €ro CoJepKaHHE B
JOCTaTOYHOU Mepe OTpakaeT BaIlle MTOHUMAaHUE OCHOBHOUW MBICITH TEKCTa.

8.Ilpoananu3upyiiTe 3arojoBOK B OOIIEM KOHTEKCTE CMbICIa TEKCTa W
chOpMyTUPYHTE €r0 CMBICI.

9.IpocmoTpuTe TEKCT emie pa3, oOpaiias BHUMaHHE Ha (pasbl, BBIPAXKAIOIINE
OTHOIIIEHUE aBTOpa K wH3jaraemMoi uHGOpMAIMU, U OMPEICIUTEe €ro OTHOIIEHHE K
npoOieme.

10.Mcnone3yiiTe cienyromme Kiuiie 1 pedeprupoBaHus:

The title of the text is...

The text is about... The text deals with...

The text covers such points as... first... second... third... It should be underlined
that...

In conclusion, I may say that...

To my mind... In my opinion

7. MeToanuyecKue peKOMEeHAAIMHU 110 aHATU3Y OM3HeC-KeilcoB

Meton OusHec-keiicoB (case Study) — 3To BuJ OOydeHUsS NPUHATHIO PEIICHUH C
aHaJIM30M MapaMeTPOB KOHKPETHBIX CUTYAIHi, B3SATHIX M3 MPAKTHUYECKOH IEATCIHHOCTH.
OHM MMO3BOJIAIOT OOYYAIOIIMMCS IMOBBICHTH aHAIUTHYECKOE MAacTEPCTBO, OOOCHOBBIBAS
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MPUHATBHIE PEUICHUS W apryMEHTUPOBAHHO 3alllMIlas CBOK TMO3WIIMI0 B MPOIECCEe
JIACKYCCHUU.

Pemenue keiicoB pekOMEHIyeTCsl MPOBOJAUTH B HECKOJIBKO ITAIOB:

1.M3yyenue Mmarepuana — CTYJAEHThl 3HAKOMATCS C MOJY4eHHOM HHGPOpMAILIUEH,
OMPEENSAIOT OCHOBHYIO MPOOIeMy

2.00cyXJIeHHE U aHAIM3 NPAKTUYECKO cutyauuu B noarpymnmne (3-4 yenoseka, 40
MUHYT) — CTYJI€HTbI 00CYKIAat0T MPUYUHBI CIIOKUBIICICS CUTYalluH, BBIBUTAIOT UJIEU 110
PEIICHHUIO CYIIECTBYIOIINX MPobiieM

3.IlpencraBneHue pe3yabTaToB OOCYKICHUS KaKIOW TPYIIBI B COOTBETCTBUHU CO
CJIEIYIOLIUM IIJIaHOM:

-KpaTkoe m3noxkenne curyaruu (background): cTymeHTHI ONMMCHIBAIOT M3YYCHHYIO
CUTYAIIHIO;

-npobnematuka (statement of the problem/issues): cTyaeHTB NPEACTaBIISIIOT
BBISIBJICHHBIE UMH IPOOJIEMBI;

-BapHaHThl JACHCTBUS (Options): CTYIEHTHI MpEAJiaraloT BO3MOXKHBIE peEIICHUS,
pacckasbiBasi 0 mpeumyiiecTBax (advantages) u Hegoctatkax (disadvantages) xKaxaoro us3
HUX;

-pekoMenanuu (recommendations): CTyAE€HTHI MPEJACTABISIOT HAWIYUYIIUH, M0 UX
MHEHHUIO, BADUAHT JICMCTBU;

-tuian AevictBuit (plan of action): cTyaeHThl moApOOHO paccKa3bIBAlOT O Mepax,
KOTOPBIE HEOOXOAUMO MPUHSATH B paMKax PEIICHUS 3asiBICHHON NPOOIEMBI.

Bo Bpems mpe3eHTanuu Ipyrue rpymnmbl CTyICHTOB HE UMEIOT MPaBO 00CYX IaTh CBOU
3a/1aHus.

VY KaXIOW IpyIIbl €CTh OKOJO 4-5 MHUHYT Ha IPEICTABICHHE CBOMX PE3YyJbTATOB H
OKOJIO 2 MUHYT JJIsl OTBETOB Ha BOTIPOCHI.

BricTymieHre CTYJIEHTOB OLICHMBAETCSI MCXOJ M3 JIOTUYHOCTH HUX BBICKA3bIBAaHUU U
MIPEJI0KEHHOTO TUTaHa JIEHCTBUM, MOJTHOTHI aHAJIM3a U YETKOCTH OTBETOB Ha 3a/1aBacMbIe
MIOCJIE BBICTYIUICHUS BOMIPOCHI. BriajieHue aHTIMACKUM SI3bIKOM Tak>Ke yUUTHIBACTCA.

Hcnonp3oBanne MeTo1a KEMCOB B MOJATOTOBKE CTYJEHTOB K chepe mpodeccnoHanbHON
JeSITETLHOCTH TTO3BOJISIET MOBBICUTh MHTEPEC K M3YYAEMBIM JTUCIIUIIIIMHAM, CTIOCOOCTBYET
Pa3BUTHIO HCCIIEOBATEIILCKUX, KOMMYHHUKATUBHBIX M TBOPUYECKUX HABBIKOB MPUHSITHS
pEIIeHUH, MOCKOJIBKY aKIIEHT 00YUYEHUs IEPEHOCUTCSI Ha TBOPYECTBO CTYICHTOB.

8. Metoanueckne peKOMeHIalMU 10 MOATr0TOBKE U MPOBEIeHUI0 MPe3eHTANUM

[Tpu mOATOTOBKE MPE3EHTAINH: ONIPEICTIUTE TEMY, IIeNb U TIJIaH BBICTYIUJICHHS.

YcTaHoBUTE IPOJOJIKUTENBHOCTD MPE3EHTALMH (OKOJIO 7 MUHYT).

OOpatuTe BHUMaHHE Ha OCOOCHHOCTH CIyIIaTeled, MPEeIyCMOTPHUTE YdacThe
ciaymarened B oOCyxkaeHue  Tembl-nipoosniembl.  [lomOepute  TOMOJHUTEIBHYIO
nH(pOpMaILIMIO, TAKOM TOMOJHUTENbHOM HH(OpMaLeld MOTYT ObITh: MPUMEpPHI, CPABHEHUS,
LUTATBl, OTKPBITHS, CTATUCTUKA, TPaQUKH, ayTUO U BUACOMATEPUAIIbL, SKCTIEPTHBIE OLICHKU;
MPEeTyCMOTPHUTE WILTIOCTPAINK (HO HE IEperpykaiiTe MU ClIaiffibl), KIIFOUEBbIE CIIOBA

[Ipu odopmieHnn Claii0B 1EIeCO00pa3HO MPUACPKUBATHCS  CIACAYIOLINX
pPEKOMEHIalMii: MAaKCUMAJIbHO COKPATUTh KOJMYECTBO CJIOB Ha Ciaiiax, MpeICTaBUTh X B
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BHJIC CJIOBOCOYCTAHUN WJIM MAaKCHMAJIBHO KPAaTKWX TE3WCOB; HA TEPBOM Clai/ie yKa3aThb
Ha3BaHUE TEMbl, aBTOPOB, HOMEP TPYIIIbI; HA BTOPOM cClaiiie 0003HAUYUTh COJECp>KaHUE
BBICTYIJICHUS B BHUJE IYHKTOB, Ha TPEANOCIEIHEM Ccllaiijie yKa3aTb HCTOYHUKH,
UCIIOJIb3yeMble B MPOIEcce MOJTOTOBKH IPE3CHTAIMM; YKa3aTh Ha3BaHHE Y4eOHOTO
3aBeqieHust (PuHaHCOBBIN yHHBepcuTeT Tpu IlpaBurensctBe Poccuiickoit denepainuu) B
KOJIOHTUTYJIE Ha KaXXJOW CTpaHUIlEe; MPEANOYTUTENbHEE HCIOJb30BaTh PazHOOOpa3HbIC
Claiiipl, KOMOMHHUPOBATh TEKCT ¢ Tabiuuamu, rpadukamu, JuarpaMMamu 4 Jp.; He
MCITOJTh30BaTh KPACHBIN U 3€JICHBIN I[BET HU B 3ar0JIOBKaX, HA B TE3UCAX.

OdeHb BaXHO, YTOOBI 3a CTPYKTYpOW TMpE3CHTAIlMU CTOsUIa JIOTMKA TOJadd
Martepuana. ToJbKO TOTJa MOYKHO TOBOPUTH C YBEPEHHOCTBIO O TOM, 4To Bamm uaen OyayT
MOHSATHBI  CAymaTeasiM. XOpOIIO CTPYKTypHpPOBaHHAs TIPE3CHTAIUsl TOCTPOCHA B
COOTBETCTBHUH CO CIEUU(PHUKON ayJUTOPUHU C YUETOM €€ HHTEPECOB.

[Ipe3eHTanmsi TOJDKHA COAEPXKATh CICAYIONIHE KOMIIOHEHTHI B TIEPECUHCICHHOM
MOPSIJIKE:

- TUTYJIbHAS YacTh (Ha3BaHUE, 3aCTABKA);

-OTKpBIBAIOIAs YacTh (AHHOTALIUS, JeTaromias ayJMTOPUI0 BOCIIPUUMYKBON );

- BBeJIeHHE (TIPEIBOCXUIIIAET OCHOBHBIE MOTHBBI ITPE3EHTAIIMH, 3TO MOCT, BEAYIIUHN K
OCHOBHOM 4acTH);

-OCHOBHAs1 4acTh (IIpeACTaBIIsIeT cO00i CoOOIIeHNE);

-KJIIOYEBBIC IMYHKTHI (TJIABHBIE UI€H OCHOBHOM 4acTH);

-MOJICPKUBAIOIINN MaTtepuan (MHpopMmanus, OOBSCHSAIOMAS U TOAIEPKUBAIOILAs
OCHOBHBIE ITYHKTHI);

-mepexosl (TMOABOIUT WTOT OJHOMY KIFOUEBOMY TIYHKTY H TPEICTaBISET
CIeAYIOIN);

- 0030p (BHOBb MEPEUUCIISICT KIIOUEBBIC MYHKTHI COOOIICHUS);

-3aKJIFOUYCHUE (JIOJDKHO TPHU3BIBAaTh W TOOYKIATh ayJUTOPHIO; TOIBOIAUT YEPTY
KPaTKUM YTBEPKICHUEM );

-0053aT€NIbHO TPEyCMOTPUTE PETETULIMIO BBICTYIUUICHUS B CONPOBOXKICHUU C
MIPE3CHTALUEN;

-MCTIONB3YUTE CIEYIONME KIUIIE JIs1 BRICTYIUICHUS TIepe] ayAUTOPUEH:

Let me introduce myself, my name is...

Today I would like to talk with you about...

My aim for today’s presentation is to give you information about...
In today’s presentation I'm planning to explain...

Let’s start by looking at...

Describing this process, it is necessary to start with...

Moving on to the next section, let’s have a look at...

Thus, that brings us to the end of the final section.

Now, 1'd like to summarize

Now, just to summarize, let’s quickly look at the main points again.
I would just like to sum up the main points again...

That brings the presentation to an end.

Finally, I'd like to finish by thanking you (all) for your attention.
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